139

fua= 3+

L 34 fod  [eal ohvene walinss

280

Frmalz Taovem — IF £ los o loo ho loain aF X=8, thoo

a K Gﬁku(numL&r pf‘ ‘F

‘F‘(x):z‘fx—al“fx" =0 solve v x.

AN Va \,
Bx (1-x)=0 FB, 4—t+2 o
x=p  x=I -0 4 T2
1 T
fr(x): . x (-x) pare Mt
{'(,|\= —_ 4 = - _F(,)= ? & (veal mim. )
%)=+t = + Fl)= 3 & licl mmk. cal.
fl(ﬂg - = -
i S'e,w,l MM{'} _Fll(x) So v [oo.l Win .
+%x) <o (N il ey
£'%)=0 Tncandtive

‘C'()o):, % ~d x>

o= 2y <% = 24 (1eax)
| A )
pio)=+ AT Drel min.
f“(l)= — x[\/ [1enl  mak,
349 | [t gy, =0 (7] v £0)= 2.29-85° +1= 43~ ¢ <o
. f(?)\ 2.3 - 9.8 46 =232+ 6>0
(x
) Clue * 2 cont & Dﬂ and e Sms

i T w\phujfs diftfen ﬂq\ e 3 tt..




— : L 7 X
3
\}a N 4 — & - /
{W‘ in
Xeor = Xe = R
~ T (K¢ )
L= 388+t
)= - a4 = N (x=2)  Cont shebof Q.
L T "
= YT X~ J:)cff-?kw{ n Exul
- T
. S(O): 0
290 | S[) zposihm n{0)= 958 A0 —
= | | — e~——-
w8 = lh vehihy LAY
(D= =10 acalwani, a({-)t—%*%f
LIV 2 - S A R 11
b L’ 3600 seC L
N(E)= ~Hot +C pl)=C = ail
) ot 55— ge TR G ey e
R 210 _ |1
t= T (% &(,]
P {Y]
(= Ve 4o 4 ¢ %{ tC s(=0 =C
L [
[\ , 24%0  Yy4o-2Yro
s(4)= ~Lo{?+ %’C s(%)z-lo(%\ﬂ\,@"‘ Y —




o(4)= A2 o (rL b

~ — \

X”'-f)a\’rl-\#"f—ll Fd e max . eight  of He cune. (*,1-\/4'4)

r

A

pr i L uvnlu{.
Ld -

d

Fuglait Vi ™ [x’ Xy + }L, n.]

lx+(l\}+ x%) 4 1}%:0

(<) - “hx=\

;.x T Xty

o b ¢ e

dx ?V lev/p Bor .




